Length and Perimeter Knowledge Organiser
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Length and Perimeter

Knowledge Organiser

Compare Lengths

Add and Subtract Lengths

6mm < 6cm
6cm = 60mm
6mm is shorter than 6cm

l4cm + 19cm = 33cm
8cm 2mm + 16mm =

6m - 2m 28cm
6m-2m = 4m

98 mm or 9cm 8mm 4m - 28cm = 3m 72cm

320cm > 2m 60cm ? 6m
320cm > 200cm + 60cm 8cm 2mm l16mm 2m 28cm ?
320cm is longer than 2m 60cm 82mm 16mm
98mm < 12cm 3mm
98mm < 120mm + 3mm
98mm is shorter than 12cm 3mm
Perimeter
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2cm e perimeter = 20cm
6cm + 6cm = 12cm
5cm -
....................... 3cm + 3cm + 20cm - 12cm = 8cm
5cm + 2cm + 5cm + 3cm + 3cm Sem = 2 = hem
""""" = perimeter 2cm = l4cm 3cm = 15cm
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